Time allowed : Three hours

" _ECONOMICS
Paper - II (a) (Quantitative Techni ues)

aximum Marks ;: 100

1.

w

Part-A
Define the following concepts : f=feiRaa staammmst = it S
(i) Variable. = (i) Slope qf the line. T&T = A |

(iii) Frequency Distribution. ﬂTqﬁ 71

(iv) Skewness fammar! (v)". Standard Deviation. mﬁwn
() Index Number. g&eh1 (vil) Multiple Correlation s 98- |
(viii) Range. fo@R | “_ (ix) Census Method. E7ur fafy |
(x) Regression. WaqTHA4 o

. Part-B

Expand (y-1)". (y—-l)"' T TR i |
In the distribution the mean is 45, median 48 and Pearson's coefficient
of skewness is.(-) 0.4. Find the mode and coefficient of variation.
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TF S 1 WIeF 45, Weqeh! 48 § SIR fagel @1 ferwsran wporien (-) 0.4

»

L

7. (@)

(b)

(b)

® | Sges aun foreru quis 91 i |

The mean rainfall of a place from Monday to Saturday in a week was
4.5 cms. On account of heavy rains on Sunday the mean rainfall for
the whole week shot up to 6 cms. Determine the rainfall-for Sunday.

Tt = it U W o SreR @ ufiar aw = 2fiea ot 4.5 a6t 4|
Uoam =it srcafyes aui 1 2 R0 QL TETE H 3irad oul gt 6 WAL
& T | FaTed WaeR 1 P awl g2

Find the coefficient of correlation from the following data:
Frefefen T & Tr-gw= TS F6 S
3x=y, 8y = 6x ‘

3 1
IfA=|_; ,|find 22-52.

3 1
g -4=[_1 2] B 42 5, TR

Part-C
. Unit-I
LA . &
Find —- of the following: fF=fafEa s - d FifeA
] x+1
@ y=- Jx
(i) y=x° ..

Integrate the following.; FTATHEH wiloH :

® '[x2125dx

(ii) [ logxdx

Or _
Use Cramer's rule to solve the following : %R a9 & Hifea:

2% y+32=9
x+3y-z=4
3x+2y+2z=10 |
Find inverse of the following matrix :Fr=1 Afgera = vt I Hf:
1 2 3 | '
A=|1 3 5
1 512
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Unit-II _
9. On the basis of the following information, find out correlation
coefficient between Density of Population and Death Rate :

fr=t e F oNUR W SAEEN ¥ T SR Tg-| H - -

RAUCTISIR] FIf
District Area Population No. of
(sq. km) . dcat}ls
BRI CEL TR Lo g e
(=i fait)
A 200 40,000 480
B 150 75000 - 1,200
C 120 72,000 1,080
D 80 20,000 280
Or .
10. Find out standard deviation and coefficient of variation from the
" following series : f#=1 2ot Y w1 o SR forero [uiish A1 pifsmA:
Marks No. of
(above) students
s - iR
(4 3T4F) Sies|
0 100
10 , 90
20 75
30 50
40 25
50 15
60 5 .
70 0
Unit-ITT
11. Estimate the number.of workers eamning wages (i) between Rs. 60-70

and (ii) aboveRs. 70 : =1 Tl ¥ (i) 60-70 & T = &ir (i) 70 A
37feres HSTGHl WIHSHTT SIY STl o ST I it .

Monthly wages No. of
(Rs) - workers
Tiaes TG St =t T ‘ T
(¥.)
Below 400 250
40-60 120
60-80 100
80-100 70
100-120 : 50
Or

12 Compute the Fisher's ideal Index Number from the following data.
Does it satisfy the both Factor and Time Reversal Tests : g

e e @ TFIR % K 7o GEsis Sl T S | 9
[ T A T SR Qe e e E
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Ilemf Base Year Current Year
TN YR 94 yicd a4
Price Total Price Total
(perunit) Expenditure . ‘(perunit) Expenditure
(. gawm g FAEE
TFR) TFR)
(Rs.) (Rs.)
A - 40 5 75
B 4 16 8 40
C ! 10 2 24
D .S 25 10 60

e em e e e wm o e
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